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QID : 1- Who proposed the theory of classical conditioning?
D GG, QAR OR 6QRLJEM ?

Options:

oo 1 €CHOTWoOTrld. IN

PR QAR

2) B. F. Skinner

Q. 9. §rQ

3) J. B. Watson
6@. Q. 8eaR

4) Edward Tolman
OGO 661MEMIR

Correct Answer: 1) Ivan Pavilov
AAIR IR

Candidate Answer: 1) Ivan Pavlov
QIR dmQ

QID : 2- Growth is primarily ______ in nature.

Q8 ARIQEILS HAQ 6QIREIN ?



http://202.191.140.165/otetmay19/ccgsa_sep19/login.php?appid=12b748051c486160c4e32c1ca0be04e5
http://202.191.140.165/otetmay19/ccgsa_sep19/process.php?appid=12b748051c486160c4e32c1ca0be04e5&q=ZTc4YzdjNWE1NGQzYzVlODU2YTNlZDQ3YmYzMzFmMTR8MTgxMDcwMzA1M3wwODA4MjAxOQ==
http://202.191.140.165/otetmay19/ccgsa_sep19/challenge_list.php?appid=12b748051c486160c4e32c1ca0be04e5&q=ZTc4YzdjNWE1NGQzYzVlODU2YTNlZDQ3YmYzMzFmMTR8MTgxMDcwMzA1M3wwODA4MjAxOQ==
http://202.191.140.165/otetmay19/ccgsa_sep19/challenge.php?appid=12b748051c486160c4e32c1ca0be04e5&q=ZTc4YzdjNWE1NGQzYzVlODU2YTNlZDQ3YmYzMzFmMTR8MTgxMDcwMzA1M3wwODA4MjAxOQ==

Options:

1) qualitative
geae

2) cyclical
014

3) quantitative
a8

4) circular
Qa1a,

Correct Answer: 3) quantitative
AQeaIee

Candidate Answer: 4) circular

" Techofworld.In

QID : 3- Which statement is NOT true about development?
6R6 QR0 A6 AYPER TG Q6D ?
Options:

1) The pattern of development is the same for all children.

AREQ RIQ AQ Tmie AR AR 266 |

2) The rate of development is different for different children.

ARN61Q IR 2RI ARG TR Al 2AREN 266 |

3) The rate of development is the same for all children, but the pattern differs.
a9 JRiF il ARSI 21a Ak AQ FRIEIA 2IRIR 2R |

4) The pattern of development is the same for all children, but the rate differs.
A90AIF disl ARIEIQ 2IRIQ AAIR A 218 ARG |

Correct Answer: 3) The rate of development is the same for all children, but the pattern differs.
a9 dRiE dil RIEIR 21R AFle AQ FRIEIA 2IRIR 2R |

Candidate Answer: 1) The pattern of development is the same for all children.
ARN6Q 9RIQ 9Q TR AR QAR 266 |

QID:4-_____ isalso known as instrumental conditioning.

Q@ Qdesd, gee (il @RI ?




Options:

1) Classical conditioning
S, Agee

2) Social learning

acee &al

3) Operant conditioning
A0 2PeRR

4) Stimulus

Q1de

Correct Answer: 3) Operant conditioning
2990 2QeRe

Candidate Answer: 3) Operant conditioning
299 29QRR

Techofworld.In

QID : 5- Under operant conditioning, ______ has been seen to be effective only when it is something
that satisfies the present need of the organism.

201990 2QPRAEA R19Q ARACINA 2IVEIRCIR YR8 @QRQI AFYER 6RAE JRIQ1 6291 QPR ?
Options:

1) stimulus
QW1de

2) reinforcement
QR1RQE

3) organism

@1

4) pleasure

gel

Correct Answer: 2) reinforcement
QIR

Candidate Answer: 1) stimulus
Q1A

QID : 6 - Which one of these is measured only in terms of size, height, weight, and length?

NeIRe €1Ql 626660 620 2IRIR, ARG, BRe B me] AN ?




Options:

1) Growth

Q|

2) Development
QQlsl

3) Progress
QQo

4) Maturation
aBlaisle]

Correct Answer: 1) Growth

Q|

Candidate Answer: 1) Growth

" Techofworld.In

QID : 7- Who interpreted learning as a purposive, exploratory and creative enterprise instead of trial
and error or a simple stimulus response mechanisms?

696 QA6 SN JAR OFIQ Q1 ARIRS QG1Te J6RM 67 AR8 1@ Q6RSIIFRE, 26p]6IAN G YRR
QA 2R INER QEIREM ?

Options:

1) Constructivists
QAR e

2) Cognitivists
ARIRR AR

3) Gestaltists
661gmgQ

4) Behaviourists
AQRIQAQIQIFNER

Correct Answer: 3) Gestaltists
aky[@ka

Candidate Answer: 3) Gestaltists
colgmga

QID : 8- Which one of these types of learning occurs without any obvious reinforcement of the
behaviour or associations that are learned?

IR FRIQ JRIQ Si8I @192I0Q 601610 QR1RQE 80! QI St @82l AR6JI0 @RI 6RIREIN ?




Options:

1) Social learning
AR S

2) Latent learning
gee &l

3) Divergent thinking
20QI1 5

4) Convergent thinking
Qa1 9ge

Correct Answer: 2) Latentlearning
2gae &l

Candidate Answer: 1) Social learning

ACiRe &gl
Qb:9-___ occurs from watching, retaining, and repllcatmg a behaviour observed from a
model

6RQG IR REPIQ I8 QLR 60¢, FI6RAG] G 6QLAR 6RIREIN ?
Options:

1) Classical conditioning
8IgI0 219eR

2) Observational learning
desmiae Sl

3) Social learning

AR Sl

4) Operant conditioning
22I990 2QeRe

Correct Answer: 2) Observational learning
2ERRR Sl

Candidate Answer: 2) Observational learning
decmIee Sl

QID : 10 - Insightful learning is found to depend upon all these factors EXCEPT:

fad @121 @d6a 294 AaI Fela @6q A@ ?




Options:

1) Experience

QRO

2) Intelligence

Q8

3) Reception and Generalisation
9261 B ARIQENKQE

4) Extinction

QemIaR

Correct Answer: 4) Extinction
SemIae

Candidate Answer: 4) Extinction

™ Techofworld.In

QID : 11 - Who was the first one to demonstrate observational learning?

& Qel6r 2Q6MIR R S8l Qslingjem ?
Options:

1) Wolfgang Kéhler
GO 6R12RQ

2) Erik Erikson

OQ QeaR

3) Edward Tolman
OEIE 66IMAMIR

4) Albert Bandura
2RSS QQA

Correct Answer: 4) Albert Bandura
RS QA

Candidate Answer: 2) Erik Erikson
0 Qear

QID : 12- Which one of these is NOT required in order for observational learning to occur?

RERIRG S8 6201 ARl ARG FRIQ 62616 2IQ6ie Q68 ?




Options:

1) The observer must pay attention to an action.

REARRRINT IR @Y 08 FIR6AIG 60Q1 2IQ81Y& |

2) The observer must remember the observed behaviour.
2ARRRIR QMR 62IREA QIQRIR F6RA S QTR |

3) The observer must be able to replicate the behaviour.

2ReMIN PRI MQRIQY 6QILAUR AR ARE1 62Q QoQ |

4) The observer need not be motivated to produce the behaviour.
2QEAIRRRIAT 919210 4F @AQI AR 2R6JA6 6291 2IQ6lR 6@ |

Correct Answer: 4) The observer need not be motivated to produce the behaviour.
2QEAIRRRIAT 91921 IF @A9I AR 2R6JAG 6291 2IQ6le 6@ |

Candidate Answer: 4) The observer need not be motivated to produce the behaviour.
2QEAIRARIAT 91928 4§ @Q9I AR 2R6JAG 6291 2I6R 96¢ |

Techofworld.In

QID:13-The provides punishment for those teachers who are engaged in
teaching children with special needs without a license.

SARAIER F66d 2IRsl100! gl INIFING MAIREAR GRI JQIREM 6QQE QERUIP F6Q ?
Options:

1) The Rehabilitation Council of India Act, 1992

QeRREeAR FIRNTR AT K& 21Q, 1992

2) The National Policy on Education, 1986

@191, 881 16, 1986

3) District Primary Education Programme (DPEP)

ARl geifie §al @149 (DPEP)

4) Integrated Education for Disabled Children (IEDC) scheme, 1974
QR dniw AR aFeas! &Rl (IEDC) 6Q1e%), 1974

Correct Answer: 1) The Rehabilitation Council of India Act, 1992
QeRRecaR FIRedn 2 @&RI 2, 1992

Candidate Answer: 2) The National Policy on Education, 1986
@161, 8 16, 1986

QID : 14- Which one of these is defined as “the measure or condition of things and services that can
readily be reached or used (at the physical, visual, auditory and/or cognitive levels) by people
including those with disabilities”?

NeIRe AUQ @ILIR 28] "RRA Ql 6QQIQ ARFIA @ 2edl 4191 QIO gl MR IR dL deider dIcien J2°0 Qe
QI QPO FRIRARS (SRR , QEIYAIR, §QE 9Q°/Ql THIRINR JR6R)" ?




Options:

1) Accessibility
QARG

2) Special skills
Q6618 QVRIG PR
3) Reservation
AQREl

4) Inclusion
2IgReadl

Correct Answer: 1) Accessibility
QamQel

Candidate Answer: 2) Special skills
Q661d QROIG R

Techofworld.In

QID : 15- Under it is mandatory for every special teacher to be registered by the
council and that every child with disability had the right to be taught by a qualified teacher.

Q121 2RI196Q, g6 F661d SfRE JAARER I°R1QE @RR! ARG AR 266 B g6 QAR JRIFA @66 9661d
fee® QIR SRR @RI 2R)PIQ 218 ?

Options:

1) The National Policy on Education, 1986

1910, S8 16, 1986

2) District Primary Education Programme (DPEP)

ARl deldie &8l @idige (DPEP)

3) The Rehabilitation Council of India Act, 1992

QeRReear *IANdn 2T R8I g, 1992

4) Integrated Education for Disabled Children (IEDC) scheme, 1974
QA Tnie A AFIee6 &Rl (IEDC) 6Q190), 1974

Correct Answer: 3) The Rehabilitation Council of India Act, 1992

Q2R FIRNTR AT A& 2Ig, 1992

Candidate Answer: 4) Integrated Education for Disabled Children (IEDC) scheme, 1974
QA Jnie AR AFI6Q61 &Rl (IEDC) 6Q190), 1974




____iswhenall students, regardless of any challenges they may have, are placed in
age-appropriate general education classes that are in their own neighbourhood schools to receive
high-quality instruction, interventions, and supports that enable them to meet success in the core
curriculum.

6560696R 49 Q19 6AFINEA 2ol 6Rl6Id 2VFGI FFEEIN6R QALY UL BARER 6AAIRER A FMIRAIGR6R
2jel ARIIQE! EiRE1 66616129 QIR @R AIRQ Yo, 2Y6Rd B ARG ARG, JIR! 6a7ing AICIFFIER ATRE!
6QReIN, N2Ig Q6 @RIAN ?

Options:

1) Universal education
aiFgle &l

2) Inclusive education
QRN &l

3) Exclusive education
Qe aal

4) Value education
aRIge Sl

Correct Answer: 2) Inclusive education
2pP6Qd! Sial

Candidate Answer: 1) Universal education
AFge &l

Techofworld.In

QID : 17 - Under Project Integrated Education for the Disabled (PIED):

QQAFE AR AR §iAI (PIED) 6896Q 62616 OR ?
Options:

1) All the schools in the area are expected to enroll children with disabilities.

ABR6Q 29I A TR PR QAT TRIF AIF 6REIIRS

2) Some schools are selected for admitting students with disabilities.

QeRr dRIE QIR 6RAIRGI IR A8 ARUIRL, OL4R 621R2IF |

3) Special schools are set up for children with special needs.

Q6618 2IREHRG! 2ol TR iRl F6618 FRYIR, 6 621RE |

4) Schools in a specific cluster are urged to volunteer and offer seats to children with special needs
at affordable pricing.

R HRY FgR6R 2ol FMIRAGPR 69810 QIR 4R FARIER F66IE 2IR6ins gel JnIring 3¢ 609 |

Correct Answer: 1) All the schools in the area are expected to enroll children with disabilities.
ABR6Q &I AFY TR PR QAT TRIF AIF 6RGIRS

Candidate Answer: 3) Special schools are set up for children with special needs.
Q6618 2IQEHRG! 2ol TR IRl F6618 FRYIR, A6 621RE |




QID : 18- In a school that follows _____theschool and classroom operate on the premise
that students with disabilities are as fundamentally competent as students without disabilities.

696 JRIR AMIRAER IR, G 6¢616)2 IR FAFIER SIMAIR @ KA JRIFIER VRRF 62IRELQI drIFInG AQ
AR QUER Q@GOIQT@IQ@@ GQIG-Q?,II@ ?

Options:

1) Special education
Q6619 &al

2) Inclusive education
QRN &l

3) Exclusive education
Qelee dal

4) Value education
aRIge Sl

Correct Answer: 2) Inclusive education
2IpP6Qd! Sal

Candidate Answer: 2) Inclusive education
2lpP6Qd! &al

Techofworld.In

QID : 19 - In which one these is also defined as "assessment for learning"?
IR CRIQ 6060 "E8I iR GRIILLE" (1l QRICIN ?
Options:

1) Curriculum-centred
AR F-ERLR

2) Learner-centred
AQIE-6a0 e

3) Teacher-centred
GRR-6a0@

4) Subject-centred
Q-6

Correct Answer: 2) Learner-centred
aRIe-6a0 e

Candidate Answer: 2) Learner-centred
aRIe-6a0e

QID : 20 - Which one of these is NOT an example of teaching/learing materials (TLM)?

NG FRIQ 6266 Y@ G868 QA8 (TLM) @ QQIeQé Q62 ?




Options:

1) End-of-semester test
6dfigia aQal

2) Videos

Qe6a

3) Flashcards

a(alallela

4) Story books

0d QRgee

Correct Answer: 1) End-of-semester test
6afigiq sl

Candidate Answer: 1) End-of-semester test
6afigie sl

Techofworld.In

QID : 21 - Which approach is more likely than others to expose learners to real-life issues, help them
develop skills that are transferable to the real world, increase the relevance of the curriculum and
allow students to be creative and innovative as they are learning?

604 980 SRINFIRE QIge @RI AAEE a2 2@ geify R6Q, QIge @R2Ie 29IgRe 621IRAIRER! @-G! Q8
PAeIEa AIRINY @61, ACIFFR 2QFRG! @RN G TRIFING SiNI 9@ JRAGIR G 2RR 629IQ 2QAE &4 ?

Options:

1) Problem-based learning
AAQYFATY69E0 &l

2) Learner-centred approach
GRIE-6060 A86

3) Content-based learning
Qa1 adieedo sal

4) Curriculum-based learning
A0Yg A AJI6d0 Sl

Correct Answer: 1) Problem-based learning
arQy-adieado Sial

Candidate Answer: 1) Problem-based learning
AAQYFAdY6QE0 &l

QID:22-_______ is ageneric termused to describe the resources teachers use to deliver instruction
and support student learning and increase student success.

Am G8e Fli6R ol 60R SIRFIREQ S8Ig ALINC! @AQI G RN ATRG! PRI @6l QRIAN ?




Options:

1) Curriculum

AoYge

2) Teaching-learning material
SR8 QI8!

3) Syllabus

dIOYeIQe!

4) Assessment

gRYIae

Correct Answer: 2) Teaching-learning material
SR8 QI8!

Candidate Answer: 2) Teaching-learning material
G861 QARQ8!

Techofworld.In

QID : 23 - Which one of the following is NOT an advantage of a learner-centred approach?

wos o~

FIRE FRIQ 6066 SRICN-6GLR IR0 Y@ TR Q6w ?
Options:

1) timproves participation.

Q1 2°619Q6 @@N |

2) It facilitates personalized learning.

QI Q15610 88 6JIN@E @6Q |

3) It fosters collaborative learning.

QI AQI0e §iRlg 69980 @6 |

4) ltis not labour-intensive for the teacher.
2! ffew AR 2% AR @I 962 |

Correct Answer: 4) ltis notlabour-intensive for the teacher.
2| HfeE AR 2@ AREM FIae Q68 |

Candidate Answer: 4) ltis notlabour-intensive for the teacher.
2| fN0R AR 2@ dAE FIae Q68 |

QID : 24 - In which one these is the focus on the strength, ability and needs of the learner than on
knowing learning deficit of the learner ?

ARG FRIQ 6ReRlea SRINA §igE aAg@d RIEiel eenea SRR 61§, 286! G 2IREIR0Iges QU6 AIR
Q2N ?




Options:

1) Curriculum-centred
AOYRF-60L0R

2) Learner-centred
aRIeh-6a00

3) Teacher-centred
SRR-6R0e

4) subject-centred
QYL@

Correct Answer: 2) Learner-centred
aRIeh-6a00

Candidate Answer: 2) Learner-centred
aRIeh-6a00

than one way of expressing the correct answer.

6RG6 g4 QIR U@ QAIT, 6LR26R 661ICNQ 2o OF QA 2N 1 0] QAQ @RI IaQ 2RIQ QI 2N ?
Options:

1) Oral test

6clige aQsl

2) Subjective assessment
1d QR JRILe

3) Objective assessment
eghg Amiae

4) Aural test

6@ 41 A1

Correct Answer: 2) Subjective assessment
1d QRAIR® JRILe

Candidate Answer: 2) Subjective assessment
Q1d QAR RIS

QID : 26 - Atest designed to assess the attainment in any subject with regard to a set of
predetermined objectives is called a/an:

<

JeRSING Q6a6l1gee 2AIR6R 6016 FUAER PFG! RIS IR 686 AN @AUIIN ?




Options:

1) diagnostic test
65000 a1l

2) achievement test
Aol AoVl

3) prognostic test
Q&aY gor A1l

4) screening test
2(igalaY]

Correct Answer: 2) achievement test
AP ol AUl

Candidate Answer: 2) achievement test
Aol AoVl

Techofworld.In

QID : 27 - Which one of the following is more of "assessment for learning" rather than "assessment
of learning"?

Q09 6946 "AINIQ GRIILE" 268 "E8I AR ARYIGR" 2 266 ?
Options:

1) Formative assessment
FoRIR FRIe

2) Diagnostic assessment
66QIRR AR

3) Prognostic assessment
QeAY goe AR

4) Summative assessment
64IGle Cimilde

Correct Answer: 1) Formative assessment
COREIR® Fmile

Candidate Answer: 4) Summative assessment
6dIole Fimilde

QID : 28 - Which one of these is NOT a part of formative assessment?

ARG FRIQ 6REIE B0RFRR RN IR 2°6l Q68 ?




Options:

1) class room discussion
641616 L 2lemIon!

2) home work

@ dio

3) weekly test

agee aoal

4) annual examination
e aaual

Correct Answer: 4) annual examination
e aaal

Candidate Answer: 1) class room discussion
6916N1G)L 2lemIon!

Techofworld.In

QID:29-A______ has different categories, where the learner can score lower or higher within the
scale depending on their answer.

6RGIJ6R ARG AAIGIGHR 2N, 60R26a EiRIEN 6AFIRE AAAA IR BUIRER K¢ Q1 AR 65Q AGURES ?
Options:

1) self-assessment

ORI

2) peer assessment

4edIon Fim1ige

3) multiple categories’ assessment
Qg QA RIS

4) single scale assessment

Na@ Cie (miige

Correct Answer: 3) multiple categories’ assessment
Qg Qe RIS

Candidate Answer: 2) peerassessment
dedIO1 Fimiige

QID:30-Ina___________, youcan have completely different results depending on how the test taker
answers them for the same question by associating different categories (or possible outcomes) for
each answer.

6RQ26Q AR 60Q2Q IRl AR QA 6948 698 8aIea AP 9ga 96 QAR dIR dRg Q6 (91 aAIey
TRITRYEPR) 60R K66 QY IRITH ARARS ?




Options:

1) self-assessment

ORI

2) peer assessment

dedIO1 FimiIe

3) multiple categories’ assessment
Qg SQUG RIS

4) single scale assessment

Na@ Cie miige

Correct Answer: 3) multiple categories’ assessment
Qg QA RIS

Candidate Answer: 2) peerassessment
aediol JRYIR

Techofworld.In

QID : 31- QRIRE A0 ARQI AR, 88Q ____ QJ6R IR 629 @RQ! Qe0 |
Options:

1) 6lgj@ TS

2) AQQl ZQIQ

3) 6616116Q A0K ARIQE KA

4) gonse

Correct Answer: 3) 6g6l16Q A0Q QPIQE @QQ!

Candidate Answer: 2) d@Ql2Quid

QID:32-____ Ai@64g 2RIAR ARIAGR RIGRIF1E GIFQ 960 1e° QeRIde gauia Alsl il A81g QRIReN |
Options:

1) ARQE QYsw1e

2) 6 AGFrE QF6RIE!

3) QIeQg QYealsl

4) QeI QYeI8

Correct Answer: 4) QEQIgR QY6RIE

Candidate Answer: 2) 6@ Q&6 QY6R16l

QID : 33 - U8 @66 Q17 QA AR ALY, CI6REMRIY ______ QRIAN |




Options:

1) ger

2) AR AG!

3) F6RIER 66iR16Q QR

4) g&°

Correct Answer: 3) ¢6RIQER 66iR16Q ARQ!

Candidate Answer: 1) g&°

Techofworld.In

QID : 34- QAL 0RQIIG° 6RYQI AT6A IR 6AFC RN

aQoIQ QM 266" |
Options:

1) 2Q6Qél

2) @@l

3) géiel

4) JIp RQQ

Correct Answer: 1) 2Q6Q4l

Candidate Answer: 3) gjéiQl

QID: 35- N g ArQ #AQIYe° 08 @8Ql dR ARIKTY @AR |

Options:

1) AQQ; SIRIeR1

2) g8iQl; RIRE @A

3) 6mYQl; @A

4) §8QL; e8!

Correct Answer: 2) g QeI @Qal

Candidate Answer: 2) g&iQ; Q9IQ8 @QQ!

QID : 36 - AREE FRIQ 60E FRRT AUV 6TIQFR Q6! GES ?




Options:
1) AREQ (6916Q)
2) @GQ

3) RQ8l
4) 6@ Qo4

Correct Answer: 2) @8q

Candidate Answer: 1) JA®Q (6Q16Q)

QID : 37 - 66I6N QI 5@ AANEQ FIFINQ AIREIRG! @612
Options:

1) QR QU6 6mY QI Al

2) Qg QU6Q @RI Al

3) AAYIQ A6e Q2R 6201 AR
4) QIR ERGIP QYOS KRR AR

Correct Answer: 3) JAgQ Q6@ @2lQIGl 6291 Ainl

Candidate Answer: 4) Q60 QERGIR QYO @A AR

QID : 38 - 6615\ GIRA 661611 6260 QNI GiAI 6@ AFER FAR AIREE FRIQ 6R6! AGRAIQ AGEe g2IR AR?
Options:

1) QA HgQI AR 6REQI IBE @BAI FrIER el ARy

2) 6TIRCR G 67I56R66'Q ERIENFIER

3) 6ARIGRIAIR AR FAeTlel @RI

4) AQMRR 66/R160 66616260 APINR! ARIF QIRR @R2IER QYR JeLlisl

Correct Answer: 2) 6FI94@ G 67IG6R66'Q ARICNCIER

Candidate Answer: 1) QI &¢Ql AAAER 6RGI IDE @B (RIER el ATRY

QID : 39 - 661N QIR §ig)QI AiR RGOS FIQ 6RAE U069 diRl IQ0IQ QAYY 6x16IR 266"




Options:

1) 9@ 2QQl

2) R66REQ Q&°
3) ger

4) \NQeeRdQ AE°

Correct Answer: 3) g¢°

Candidate Answer: 4) 1@66QdQ QG°

Techofworld.In

QID : 40 - RGOS FRIQ 6T 6615\ AUVIGIE QT P6&?
Options:

1) GIFIQ

2) 1Y RIFEAR REQETY

3) J19IQ1 6QIRIgRIAT

4) 6JIRIRQANEIRQ

Correct Answer: 3) JIGIQ1 6QIRIQRIAT

Candidate Answer: 2) i RIGP6CR REQETY

QID : 41 - ARGE FRIQ 60Q R RE OF 2667 Q661 SIRIEN 6REAIQ AEREY 6208, @I _____ FSias @Qesa
A @Q2IN|

Options:

1) 6Q6610Q IR FOQ
2) AR o6aq
3) ¥9Q

4) QAR AAg

Correct Answer: 4) QJ6QIQ Qg

Candidate Answer: 4) QdeQlg Qg

QID : 42 - ARSE FRIQ 60 Q QRIQRI 216AAEFE, FRIENAING FIER 2 QEIRIA FARIER AIRINY @RRIN?




Options:
1) REAQ2IR 671Q
2) 6clieRIemIcl]

3) 6Q2IQE 671
4) QU6RI AAg

Correct Answer: 3) 6J2IQ@ 6¢1Q

Candidate Answer: 3) 6Q2IQ@ 6¢1Q@

Techofworld.In

QID : 43- BORe|E FrIQ 6@ ARRE OF 2667 J604R FIg6R, FQYReQYee
Options:

1) A0Q YR} QG 2R FRRYEGR

2) FRQRYLR UQ 6 oq

3) FRQRYLR HIQ QR QAR

4) ggl6Q QI ARGAR NG

Correct Answer: 3) QRRE0R FAUQ QR AAQ

Candidate Answer: 3) 3aRg0R FUIQ QR QA

QID : 44 - ARG FRIQ 60 AR RE O 2667 ARTIR 2IEAUEFEER K66 el QIdieRag
QRN

Options:

1) FENFIRFQ ARG MO SIRINER QRS RS

2) ARNFIRG 6QURIPRIAIR 6615~ OMA| *AQI A FL!

3) ¢1-06° @RQ A6 ANINAIRG ZIRG PRSI AR QRS QYS!
4) 92Q dIrsl 6Rgel AR A/ITNCInGg QgRe @QQ!

Correct Answer: 4) Q2Q dIQrE 6REQl AR ARG QY@ @S

Candidate Answer: 3) 1-66° @QQI AAAER EVNFIRG AR FAUVRIQ AAAR 6QR6 QYS!

QID : 45 - g9l AFLER 660696R 2lI6¢1 TIeNR 1Fl AT @66 IO REIFQY 66liRalR TN, 9@l ARYAIne
Ol6Q @ QeI 21gR QRAR2IN, ¥QIg @' @IAN]|




Options:

1) QeticalcR Mel
2) \HcaTR M6l
3) 2IgAEQ Mel
4) QQIRd 5 2 6!

&
SIqe°
&
&

Correct Answer: 2) \3626Q MeIG°

Candidate Answer: 1) @M626Q MEIR°

Techofworld.In

QID : 46 - RICCI 66! JRINA 56°-96QR AFR 62972

Options:

1) QEG-9Q

2) 266-9Q

3) 2PB-QAQAIRIQ

4) QQAR IQ

Correct Answer: 4) QQaIQIQ

Candidate Answer: 4) QgaIRIQ

QID : 47 - 665N JQIQEIIRT QIAIRIA AIR &

Options:

1) gRIFea AITRIAIR R /g
2) 389 QEIRICA FIAY 596 Qg
3) QEIRIIR AEREIIQ FRY A
4) QIEIRINA HIEARY SR Fag

CREe @ITRIRIGEPR FrIQ 2ITE Q2l6E GR6l @R6R?

Correct Answer: 3) QRIRIIQ A6REIIQ FRY FQQ

Candidate Answer: 2) Q69 QEIRIIQ AIFR 596 @aQ

QID : 48 - RE° 606096R T8 @Y, 6J6606Q6R




Options:

1) RIENcler QRARSI QR Q4R @RI AQ

2) 46 Rie 926 AM@6 g2l @66lEl AR &8I 694

3) &iMIENclen g6l A0IRER Ie° 6AgERR AFRIR C) AIRES

4) 581 PRI DY, IO /NP 2Ige KRS

Correct Answer: 4) &R Q2IARYQI AL, J6 HVINFINFR gL FQIRE!

Candidate Answer: 3) &RIENI6R J§ IPIRER I° 60GPRQ AARIR Pl ARER
[echofworld.In

QID : 49 - GAQR 2QA6Q AGIE AFiREREIQ 2l6dR, @ dRIRE @AQ! ARl Jeifie 6IiF 2166

Options:

1) 362Q2Q

2) 6QARC-IY1e]

3) QI - REQIRN

4) 21Q1608Q4q

Correct Answer: 2) 6aRd-g17

Candidate Answer: 2) 6ad-IQ17

QID : 50 - R1PQ Y@ dAQS 6@ 6meig-
Options:

1) o2l

2) geql

3) 2RIQ

4) 60690

Correct Answer: 3) 2RI?

Candidate Answer: 3) 28RIQ

QID : 51 - @QRIQ & Jgoee 6@61@-




Options:
1) QAQQI]
2) ARRQT
3) @Q68IQ
4) Q61

Correct Answer: 3) ©Q66lIQ

Candidate Answer: 3) 5Q66IIQ

Techofworld.In

QID : 52 - QAYY 244 99 A4 gIP sl @Al ¢ ol OIQ gaela

6N AR AIF |
Options:

1) 6

2) 0Q

3) A

4 Q

Correct Answer: 2) OIQ

Candidate Answer: 2) 0OIQ

QID : 53- gg/¥: JRI0 JREIRQG- _____ 6RI6A2IRG RI66R |
Options:

1) 2QQR!

2) /A6

3) @al

4) 21Q84R0!

Correct Answer: 4) 2IQ84e0!

Candidate Answer: 1) 2JQRI

QID : 54- 620 2 6msig | 2Q8N 610




Options:

1) 606l @4 FOIUIR @F) FIBIFIGER QL

2) 646 Q4§ 2T, AR @ FIPIFIE JRIS R6Q
3) 640G @1 ARINR Y6 K16

4) 606 Q17 ARIQE AR &1 FIBIFIG RIS @6Q

Correct Answer: 2) 604 @45 230 FoIRIIAI QI FIGIFIE RISl @6Q

Candidate Answer: 2) 604 @13 2dd AR QI FIBIFIG JRIEl @R

Techofworld.In

QID : 55- 2IF1 g@ 9Y16Q K190 AIIRQ @ 2IQg 6RIRAMI; QI JYI16R K1edaIR @R | 2IF 6JIa K61661
Qa1 @ 21% adig BIe IRFIQ g@ 60626 @R 28 1e° I8 @R IF JYR1g QEP1R @Q8, Z6Re dRIRQ R1906Q
AR A8 |

QAR ACQ 921 QYA 90 JOEI6 ARILIQ ARG | @B 66INRER 2! AAQ 661G Ol 2@ 28R 6ARR | 9T
JYEQ 2l AFQAIL PRA 9% ACJPEQ 2R | ARRI TF 6610 IR ARIQQSS FRIA 0,001 Ie° JYASIER QLR |
age G0 Q190G SR 9e° g 608 | Y2l QRAINQ IR Q2Q Q|  C006Q GYRIR @RA°EIYIJRI €80 6RIF,
\6@ 121 800 6RITQ 2R \I° 96 6156 QF AIRRIER MEE | AREIF YR FRJANA 26r 2668 AITE SRR
Q@8 | 21T, @2 e 0REl 2IsrRRIa Y6 PO 6AIR BIRRIp ARRIIR | 26R6a 2AQF 64l JIsl 2qIaa] |
A7Q K0 SRINAFE Ie° F6e@ AFE QIRER QPG 62Q 666@ 2! 2IFQ 260 PRI A8 @RAIRQ |

AR QRQ 9e° 661QIR (161168 @8 190 FI0R FAF | Y9 QLR JA Y9 JENFAIER (1l 288, 6a7lr @Fda A90IQ
Y9 9191 9@ Y F1Q7I6R FYQ AR Ye° 6816 AIRFIRE 6lIRIF | Y@AR QIQEQ AR IR QG @19R §&PH 218 |
ANER 9e° 2GATR AAYER FQ AER 1e° 65QIRER QAR Ie° FIREA 71kl | JYLIR QLA @1y @19 AR
oF el I0IeQ Qg areliiea AmelN |

Qemsie FrIQ 60QE A0 Bef 2667
Options:

1) QRI1Q AAY Q1eFQ K LIR 2IRIS 266
2) J2J91Q AFY P19 K JIP 0L 263

3) 4ge1a Ag R1eFQ @ gIF AFQ 266
4) PIR1Q Y Q1OFQ PP IR QSN 2166

Correct Answer: 3) JgQ1Q QFg @10&FQ @ giP AFQ 26|

Candidate Answer: 4) Q2Je1a Qg R1QFA @Y IR Q8N 266




QID : 56 - 2lIF g2 JYR16Q 219R AIAQ & 2IAF FLIRAM 92 JA1ER H19IRIQ KR | 2IF 648 REIE6R
Qg1 @ 21 adig I YRR g2 600260 BR 2R \9e° 18 B 2 Y19 AR KR8, 26R0 JdRINR R1eR6R
AR *AR |

QAR AFQ J2J1 YR 90 JP6I0 ZRIAIR @RR | @B 66INAER 21 AAA 66lIRG OIQ 2@ 28R 6ARS | J2e1
JYEQ 2l AFQAIL, PR 9% ACJP6Q 2R | IRRI TF 560 KRR ARIQQSS FRIQ 29,001 1e° JYASINER QLR |
agQ G0 QG IR Ie° gL 608 | Y2l QRN I Q2Q QQ |  C006Q (YRR @RA°EIIRI €80 6RIF,
\6Q 921 800 6RITQ 2R \I° 96 6I56Q QF AIRRIER MEIR | CREIF YR FRIAQ 26r 2°EI6Q AIVE SRR
QRR | 2I1FQ, G2 1e° aF6 AI6FRARIA YO FYO 6AIR HIRRIY JARRIPR | 26ree A 6alg J6l 2QIag] |
afQ 40 RIPAGE Ie° F69@ AFE AR Q1QPE 62 656 12 2R Z6Ae ORI Jas @AARR |

AgER QEQ 9e° 66lQIn (8168 Q8 219 F10R RAZ | Yo AL JA J9 JENAer frl 28F, 6aeI6R @Fda 9g0IQ
Y9 9191 9@ Y Q1971I6R FQ AL Ie° 6816 AIRAIRE 6lIRIF | Y@AR QIQEQ AR U@ QG @19R S&FR 2IE |
TR Ie° 2GR AFQGPR FG ARQ Ie° 66QIRER QAR 1&° FIRER (i | JRI1R QLA K19g K19 A1R
o8 e’ OoIER Qg Qreliien fimel |

ROMGE FRIQ 606 6106 'JPR’ A AU 6ARIP 2667
Options:

1) 264Y@

22 Techofworld.In

4) 2Q1Q
Correct Answer: 4) Qi@

Candidate Answer: 4) 2QQ

QID : 57 - 2IF1 g2 YYR16Q K190 AIFRQ @ 2K QIR Il JYI16R K1edAIR KR | 2IF 6dIa K61661
QeJe1 @ 218 Adig BI6 IRAIQ g@ 6962j6a AR 28 e R R 2IF JI91Q AR @A8, 26Re JRIRQ K19R6R
AL KRR

QAR A J2J1 YR 90 JOEI0 2RIAIA @RR | @B 66INAER 2| AAA 66lIRe OIQ 2@ 28R 6AR8 | JYe1
JYEQ 2l AFAIL, PR (9% ACF6R 28 | ARR| TF oS0 KRR ARIQQES FRIQ 29,701 1e° JJALINER Q&R |
agQ ACIEIe R19§ S04 Ie° 2IgC 69n8 | 921 RN IR Q2Q Qg  C006a JYIR @RAE IR €80 6RIF,
\6@ 21 800 6RITQ 2P 19° 90 606 QF AIRAIER MITIE | ARSI QA A 26AR 2°616Q A1V SIMIIR
Q@R 2IFQ, G2 1e° G-6 AI6FRARIA YO PYO 6AIR HIRCIE ARRILR | Z6rse A 6alg J6l 2aIag] |
afQ 40 FRIRAFE Ie° F69@ A AR Q1PE FRQ 6569 12 2R Z6Ae ORI 9ol @AARR |

AGER QEQ 9e° 661QIR (8168 @8 @19 F10R FAZ | Y9 ARe JA Y9 JENAer Frl 28F, 6a¢I6R @7da 4g0IQ
Y9 2191 9@ Y9 Q197I6R Y@ AL Ie° 6816 AIRFIRE 6lIRIF | YEAR QIQEQ AR U@ QG @19R §J&PR 218 |
2GR 9e° ZGATR AAQGPR Y9 ARR 1e° 68QIRER QAR &° FIZER (1l | JRIIR QLA K19Q K18 A1R
oF erl g0oIeQ Qg areliien AimelN |

'R IR @199 Qs @RI




Options:

1) 1@ 66

2) QG0 YR B 6RIC AR
3) 6QECIRA2IR S

4) 2QYIY AgQ Q1e

Correct Answer: 2) Q@@ &6Q B 6gl6 Flig

Candidate Answer: 2) Q@@ J®6Q G 62I6 FIg

Techofworld.In

QID : 58 - @Q1 66|, 671 61g6Q 21T @M © LIRS XA & 2QI YAR ‘6dIgIF ARl FIFRIR GI6L ¢, FEIER ACI6R
QR QIPEM, A7l 6QREM 6R6R YRR, FORR, Q61 ANTEIR & 2IFR A1 AR 2R FI12ll, A6e & O 66l
Q00 Q181 6IIS |

'‘REERART 6QM QF1 AIFl §1 6Q KAR 6ORN?

QF1 QIR Il MEZEM SRIQIM CORIEAR |

TRAIR Ml 60609 2I06a &N 2ITelsm QAR AiRlER 64 @2l F0IR AIGE ] @671 AR ARG IR |
¢liR FRAIRI 2901 62Rk Q671 @ OF AIR @R?

Q671 6 SIRM QUGG @M 2liER-2lIER AIRIFIEE &1 6a Jaml 6161 JOI 60, &1 QI 6619E QU6E |
¢IRQIg M G6r @sleq 64 Q2lg Q6 ARl @ @AM?

? QR QES, @671 6RIRAIY FIRT JIJER HIRQIG 6414 IRl @R FIF DN 60R 660696R !

JOIBQ @8 606 FRRIF VAR @987?
Options:

1) €1g1

2) 606@¢l

3) 6091

4)qr

Correct Answer: 3) 60Q1

Candidate Answer: 1) €121




QID : 59 - @0Q1 661, @6¢1 F1Z6Q 21T FIM © ARG TR @ 2l QAR ‘6dIGliET Ml FIFRIR Gl6L Sim, FEIER FElER
QR QIPYM), Rl 6RIRCJEM 6R6R YRR, FOIRR, Q67 ARGEIR & 2IFR A1 A 2IdeM FIRll, A66 & 0 66ll
Qo0 Q1dl ¢ |

‘REIORRRT 6QM QF QIF B\ 6Q KAR 6aMI?

Qe 2QEIR il MEJEM SJRIQIRI CORICAR |

TRAIR YRl 60608 2I06a &N 2ITeleR QAR AIlER 6Q @2l AR AR ] @671 AR ARG IR |
glim RAIPI 2PRI 6am- Q671 & 6 AR @M?

Q661 6 SIRM QUGG @R liER-2lI6R FIRIFIEE &1 6d Jaml 6161 JOI 60, &1 QI 66198 QU6E |
¢IRQIQ 62m G6r Q6leIQ 6 elig Q6F1 IR @ @AM?

P QR QGS, @671 6RIRAIY (11 JIJ6R HIRQIG 6414 Rl @R FIF TN 6QRI 666696R !

64 AFg ARQ QFEl AR AATER 64 6RQINEQ CI'e QIR 698 62IRSEM?

Options:

« | echofworld.In

2) Q1
3) 6QIcdmIFlen
4) RAIRRIER

Correct Answer: 2) Q1

Candidate Answer: 2) Q1

QID : 60 - 2Q1 661, @6¢1 61g6Q 21T RIM © YIRAG TR & 2l QAR ‘6dIglicT Ml FIFRIg GI6L SiM, FEIER A6
QR QIPeM, R 62RGYEM 6RE6R YRR, FOIRR, Q6F1 ANTEIR & 2IAR A1 AR 2R I12ll, A6e & O 66l
QORI A |

'‘REERART 69 QF1 AIF 71 6a KAR 6ORI?

QF1 GQEIR I MEZEM SRIQIM EOMIEAR |

TRAIRI Yl 60609 2I06a &N 2ITe)sm QAR AiejER 6Q @2l F0IR AIGE ] @671 AR AME IR |
¢lim FRAIPI UFR! 62RI- Q671 @ O PIR AM?

Q671 6 Sl EAIGIRIS R 2lI6R-2lIER AIRIFIEE &1 6a YRR 6161 JOI 60R, &1 Q1 66190 QI6E |
¢lIRQIg M G6r @SR 64 Relg Q67 ARl & @AM?

@ QR QES, @67 6RIRAIY AT JIIJER HIRQIG 6414 IRl @R FIF AN 6QMI 6606Q6R !

606! Flng QY6a Q8 1@ dQY QORI RQUAIRE?
Options:

1) QRQ 6P

2) dnFIee

3) JQUERRAING
4) ueIRg

Correct Answer: 1) QQQ 6@

Candidate Answer: 1) @QQ 6RI®




QID : 61 - The sentence below has been divided into three parts. Select the part of the sentence that
has an error. If the sentence has no error, select the option 'No Error'.

The students /come from /the Vietnam.
Options:

1) The students

2) come from

3) the Vietnam.
4) No Error

Correct Answer: 3) the Vietnam.

Candidate Answer: 3) the Vietnam.

Techofworld.In

QID : 62 - Select the word segment that substitutes (replaces) the highlighted word segment
correctly and completes the sentence meaningfully.

The temperature (on the water) was just right for swimming
Options:

1) for the water

2) of the water

3) upto the water
4) No correction required

Correct Answer: 2) of the water

Candidate Answer: 2) of the water

QID : 63 - A sentence has been given in Active/Passive voice. Out of the four alternatives suggested,
select the one which best expresses the same sentence in Passive/Active voice.

Nishi's parents taught her to be punctual.

Options:

1) Nishi will be taught to be punctual by her parents.

2) Nishi was being taught to be punctual by her parents.

3) Nishi has been taught by her parents to be punctual.
4) Nishi was taught to be punctual by her parents.

Correct Answer: 4) Nishi was taught to be punctual by her parents.




Candidate Answer: 4) Nishi was taught to be punctual by her parents.

QID : 64 - Select the word that fills in the blank correctly and completes the sentence meaningfully.

___ are the fruits that father brought home in the evening?

Options:
1) Whom
2) When

3) Where
4) Who

Correct Answer: 3) Where

Candidate Answer: 3) Where

QID : 65- éelect the word tgat fills in the ;;an[:orrect‘y En! completes the sentence meaningfully.

Bread canbe _____ _

with different herbs and spices
Options:

1) fluent

2) flavoured

3) flagrant
4) fragrant

Correct Answer: 2) flavoured

Candidate Answer: 2) flavoured

QID : 66 - Select the word that is closest in meaning (SYNONYM) to the word given below.
Fabricate

Options:

1) Obstacle

2) Destroy

3) Produce
4) Truth

Correct Answer: 3) Produce




Candidate Answer: 3) Produce

QID : 67 - Select the word that is opposite in meaning (ANTONYM) to the word given below.
Wile

Options:

1) Trickery

2) Protest

3) Honour

4) Avoid

Correct Answer: 3) Honour

Candidate Answer: 4) Avoid

Techofworld.In

QID : 68 - Select the word that is spelled correctly.
Options:

1) Immediateli

2) Imediately

3) Immediately

4) Immidiately

Correct Answer: 3) Immediately

Candidate Answer: 3) Immediately

QID : 69 - Select the most appropriate 'one word ' for the expressions given below.
Mysterious; arousing superstitious fear or dread; uncomfortably strange

Options:

1) Unsure

2) Uncanny

3) Unbearable
4) Unintelligent

Correct Answer: 2) Uncanny

Candidate Answer: 3) Unbearable




QID : 70 - Select the option that best expresses the meaning of the idiom or phrase given below.
‘A piece of cake’

Options:

1) when a task/something is very easy

2) to eat like a glutton

3) to flatter someone
4) to talk sweetly to get your work done

Correct Answer: 1) when a task/something is very easy
Candidate Answer: 1) when atask/something is very easy

Techofworld.In

QID : 71 - In which of the following ways can one not use Audio Recordings to help in developing
listening skills?

Options:

1) Playing audio books on a CD or laptop

2) Recording teachers or students delivering dialogues
3) Playing songs on an MP3 player

4) Solving a comprehension

Correct Answer: 4) Solving a comprehension

Candidate Answer: 3) Playing songs on an MP3 player

QID : 72 - The judging of listening materials with a negative or positive aspect is known as

Options:
1) Extensive listening
2) Intensive listening

3) Critical listening
4) Comparative listening

Correct Answer: 3) Critical listening

Candidate Answer: 4) Comparative listening




QID : 73 - Which one of the following is the most popular type of standard oral communication in
classrooms?

Options:
1) Formal Speech
2) Story-telling

3) Role-playing
4) Conversation

Correct Answer: 1) Formal Speech
Candidate Answer: 3) Role-playing

Techofworld.In

QID : 74 - Which of the following tasks does not help in developing listening as well as speaking
skills?

Options:

1) Simulation

2) Dialogue

3) Comprehension
4) Games

Correct Answer: 3) Comprehension

Candidate Answer: 1) Simulation

QID : 75 - In Audio-Lingual method, when a student is asked to repeat a teacher’'s speech or
instructions, it is known as

Options:
1) Chain drill
2) Repetition drill

3) Substitution drill
4) Dialogue Memorization

Correct Answer: 2) Repetition drill

Candidate Answer: 2) Repetition drill

QID : 76 - The listener being solely depended upon the incoming inputs for meaning or interpretation
is called




Options:
1) Top up processing
2) Bottom up processing

3) Forward processing
4) Backward processing

Correct Answer: 2) Bottom up processing

Candidate Answer: 2) Bottom up processing

Techofworld.In

QID : 77 - Adrian Droff identified different types of listening in the year __

Options:
1) 1975
2) 1963

3) 1997
4) 1988

Correct Answer: 4) 1988

Candidate Answer: 4) 1988

QID : 78 - Which of the following is not a sub-skill of listening?
Options:

1) Understanding the subtext of unknown languages

2) Following directions and commands given by the speaker

3) Processing information given by the speaker

4) Understanding pauses in speech, intonation patterns, stress etc.

Correct Answer: 1) Understanding the subtext of unknown languages

Candidate Answer: 1) Understanding the subtext of unknown languages

QID : 79 - How many categories is Phonetics divided into?




Options:

1)6
2)4
3)5
43

Correct Answer: 4) 3

Candidate Answer: 4) 3

Techofworld.In

QID : 80 - The process of using Vocal chords in the production of speech is known as

Options:

1) Phonation
2) Intuition

3) Articulation
4) Fixation

Correct Answer: 1) Phonation

Candidate Answer: 3) Articulation

QID : 81 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Chandrayaan-2 is India's planned second mission to the moon, which is expected to launch in 2019. It
is a follow-up mission from the Chandrayaan-1 mission that assisted in confirming the presence of
water/hydroxyl on the moon in 2009. Chandrayaan-2 will launch from the Satish Dhawan Space Center
in Sriharikota, India, aboard a Geosynchronous Satellite Launch Vehicle (GSLV) rocket. According to
the Indian Space Research Organization (ISR0), the new mission will consist of an orbiter, a lander
and a rover. T he orbiter will perform mapping from an altitude of 100 kilometres (62 miles), while the
lander will make a soft landing on the surface and send out the rover. Initially, ISRO planned to partner
with Russia to perform Chandrayaan-2. The two agencies signed an agreement in 2007 to launch the
orbiter and lander in 2013. Russia later pulled out of the agreement. The Russian lander's
construction was delayed after the December 2011 failure of Roscosmos' Phobos-Grunt mission to
the Martian moon of Phobos, the report stated. Russia subsequently pulled out of Chandrayaan-2
altogether, citing financial issues. Some reports stated that NASA and the European Space Agency
were interested in participating, but ISRO proceeded with the mission on its own.

In which year was Chandrayaan-1 launched?




Options:

1) 2019
2) 2010
3) 2009
4) 2011

Correct Answer: 3) 2009

Candidate Answer: 3) 2009

Techofworld.In

QID : 82 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Chandrayaan-2 is India's planned second mission to the moon, which is expected to launch in 2019. It
is a follow-up mission from the Chandrayaan-1 mission that assisted in confirming the presence of
water/hydroxyl on the moon in 2009. Chandrayaan-2 will launch from the Satish Dhawan Space Center
in Sriharikota, India, aboard a Geosynchronous Satellite Launch Vehicle (GSLV) rocket. According to
the Indian Space Research Organization (ISRO), the new mission will consist of an orbiter, a lander
and a rover. T he orbiter will perform mapping from an altitude of 100 kilometres (62 miles), while the
lander will make a soft landing on the surface and send out the rover. Initially, ISRO planned to partner
with Russia to perform Chandrayaan-2. The two agencies signed an agreement in 2007 to launch the
orbiter and lander in 2013. Russia later pulled out of the agreement. The Russian lander's
construction was delayed after the December 2011 failure of Roscosmos' Phobos-Grunt mission to
the Martian moon of Phobos, the report stated. Russia subsequently pulled out of Chandrayaan-2
altogether, citing financial issues. Some reports stated that NAS A and the European Space Agency
were interested in participating, but ISRO proceeded with the mission on its own.

From where will the Chandrayaan-2 launch?
Options:

1) Sriharikota

2) Mumbai

3) Patna
4) Delhi

Correct Answer: 1) Sriharikota

Candidate Answer: 1) Sriharikota




QID : 83- Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Chandrayaan-2 is India's planned second mission to the moon, which is expected to launch in 2019. It
is a follow-up mission from the Chandrayaan-1 mission that assisted in confirming the presence of
water/hydroxyl on the moon in 2009. Chandrayaan-2 will launch from the Satish Dhawan Space Center
in Sriharikota, India, aboard a Geosynchronous Satellite Launch Vehicle (GSLV) rocket. According to
the Indian Space Research Organization (ISRO), the new mission will consist of an orbiter, a lander
and a rover. The orbiter will perform mapping from an altitude of 100 kilometres (62 miles), while the
lander will make a soft landing on the surface and send out the rover. Initially, ISRO planned to partner
with Russia to perform Chandrayaan-2. The two agencies signed an agreement in 2007 to launch the
orbiter and lander in 2013. Russia later pulled out of the agreement. The Russian lander's
construction was delayed after the December 2011 failure of Roscosmos' Phobos-Grunt mission to
the Martian moon of Phobos, the report stated. Russia subsequently pulled out of Chandrayaan-2
altogether, citing financial issues. Some reports stated that NASA and the European Space Agency
were interested in participating, but ISRO proceeded with the mission on its own.

According to ISRO, the new mission will not consist of

we Techofworld.In

1) Orbiter

2) Solar Pane
3) Rover

4) Lander

Correct Answer: 2) SolarPane

Candidate Answer: 2) Solar Pane

QID : 84 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Chandrayaan-2 is India's planned second mission to the moon, which is expected to launch in 2019. It
is a follow-up mission from the Chandrayaan-1 mission that assisted in confirming the presence of
water/hydroxyl on the moon in 2009. Chandrayaan-2 will launch from the Satish Dhawan Space Center
in Sriharikota, India, aboard a Geosynchronous Satellite Launch Vehicle (GSLV) rocket. According to
the Indian Space Research Organization (ISRO), the new mission will consist of an orbiter, a lander
and a rover. T he orbiter will perform mapping from an altitude of 100 kilometres (62 miles), while the
lander will make a soft landing on the surface and send out the rover. Initially, ISRO planned to partner
with Russia to perform Chandrayaan-2. The two agencies signed an agreement in 2007 to launch the
orbiter and lander in 2013. Russia later pulled out of the agreement. The Russian lander's
construction was delayed after the December 2011 failure of Roscosmos' Phobos-Grunt mission to
the Martian moon of Phobos, the report stated. Russia subsequently pulled out of Chandrayaan-2
altogether, citing financial issues. Some reports stated that NASA and the European Space Agency
were interested in participating, but ISRO proceeded with the mission on its own.

With which country did ISRO plan to partner to perform Chandrayaan - 2?




Options:

1) USA

2) Australia
3) Pakistan
4) Russia

Correct Answer: 4) Russia

Candidate Answer: 4) Russia

Techofworld.In

QID : 85 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Chandrayaan-2 is India's planned second mission to the moon, which is expected to launch in 2019. It
is a follow-up mission from the Chandrayaan-1 mission that assisted in confirming the presence of
water/hydroxyl on the moon in 2009. Chandrayaan-2 will launch from the Satish Dhawan Space Center
in Sriharikota, India, aboard a Geosynchronous Satellite Launch Vehicle (GSLV) rocket. According to
the Indian Space Research Organization (ISRO), the new mission will consist of an orbiter, a lander
and a rover. T he orbiter will perform mapping from an altitude of 100 kilometres (62 miles), while the
lander will make a soft landing on the surface and send out the rover. Initially, ISRO planned to partner
with Russia to perform Chandrayaan-2. The two agencies signed an agreement in 2007 to launch the
orbiter and lander in 2013. Russia later pulled out of the agreement. The Russian lander's
construction was delayed after the December 2011 failure of Roscosmos' Phobos-Grunt mission to
the Martian moon of Phobos, the report stated. Russia subsequently pulled out of Chandrayaan-2
altogether, citing financial issues. Some reports stated that NAS A and the European Space Agency
were interested in participating, but ISRO proceeded with the mission on its own.

The orbiter will perform mapping from an altitude of:
Options:

1) 200 m

2) 100 km

3) 1km
4) 400 m

Correct Answer: 2) 100 km

Candidate Answer: 2) 100 km




QID : 86 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Soon as an official member of the seniors’ club | can claim concessions in air and train fares, hotel
tariffs, out-of-turn access to counters at banks, and quicker access to god at crowded temples. But
the best part? Today’s 60 is not just a number, its digital! My husband and | are probably part of an
Indian generation of several firsts. We live in our own home (that is, we don't live with our children),
manage our finances, organise our travel and are generally happy to be managing our lives. Linking in
makes it easier; instant gratification, in fact. At 60 that's not a bad thing, it's a super convenience. Let
me explain. Our home is located outside the city, which means | get to enjoy salubrious surroundings
while the city is choking in foul air. But it also means getting to any place from here requires covering
distances, pot-holed roads and traffic. But | don’t have to get anywhere unless | want to. | just need my
computer, or my phone will do too. | order groceries, select the time | want it and voila! there’s the
delivery van at my gate. For my special brand of coffee | message the supplier, pay online and my
coffee arrives at my doorstep. Bill and credit card payments, recharges, money transfers, tax
payments, flight or train bookings, all without getting off my seat.

What is the problem with living in the city?

=] @CHOTfworld.In

1
2
3
4

Lose one's independence

Cannot manage finances

Long distances have to be travelled
Air pollution

~— — ~—

Correct Answer: 4) Airpollution

Candidate Answer: 3) Long distances have to be travelled

QID : 87 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Soon as an official member of the seniors’ club | can claim concessions in air and train fares, hotel
tariffs, out-of-turn access to counters at banks, and quicker access to god at crowded temples. But
the best part? Today’s 60 is not just a number, its digital! My husband and | are probably part of an
Indian generation of several firsts. We live in our own home (that is, we don't live with our children),
manage our finances, organise our travel and are generally happy to be managing our lives. Linking in
makes it easier; instant gratification, in fact. At 60 that's not a bad thing, it's a super convenience. Let
me explain. Our home is located outside the city, which means | get to enjoy salubrious surroundings
while the city is choking in foul air. But it also means getting to any place from here requires covering
distances, pot-holed roads and traffic. But | don’t have to get anywhere unless | want to. | just need my
computer, or my phone will do too. | order groceries, select the time | want it and voila! there's the
delivery van at my gate. For my special brand of coffee | message the supplier, pay online and my
coffee arrives at my doorstep. Bill and credit card payments, recharges, money transfers, tax
payments, flight or train bookings, all without getting off my seat.

What has made life easy for the writer?




Options:

1) Being retired

2) Using the internet

3) Living without children
4) Salubrious surroundings

Correct Answer: 2) Using the internet

Candidate Answer: 4) Salubrious surroundings

Techofworld.In

QID : 88 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Soon as an official member of the seniors’ club | can claim concessions in air and train fares, hotel
tariffs, out-of-turn access to counters at banks, and quicker access to god at crowded temples. But
the best part? Today’s 60 is not just a number, its digital! My husband and | are probably part of an
Indian generation of several firsts. We live in our own home (that is, we don't live with our children),
manage our finances, organise our travel and are generally happy to be managing our lives. Linking in
makes it easier; instant gratification, in fact. At 60 that's not a bad thing, it's a super convenience. Let
me explain. Our home is located outside the city, which means | get to enjoy salubrious surroundings
while the city is choking in foul air. But it also means getting to any place from here requires covering
distances, pot-holed roads and traffic. But | don't have to get anywhere unless | want to. | just need my
computer, or my phone will do too. | order groceries, select the time | want it and voila! there’s the
delivery van at my gate. For my special brand of coffee | message the supplier, pay online and my
coffee arrives at my doorstep. Bill and credit card payments, recharges, money transfers, tax
payments, flight or train bookings, all without getting off my seat.

How does the writer buy coffee?
Options:

1) She buys it from a virtual store.
2) She imports it.

3) She messages the seller.
4) She buys it from the super-market.

Correct Answer: 3) She messages the seller.

Candidate Answer: 3) She messages the seller.




QID : 89 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Soon as an official member of the seniors’ club | can claim concessions in air and train fares, hotel
tariffs, out-of-turn access to counters at banks, and quicker access to god at crowded temples. But
the best part? Today’s 60 is not just a number, its digital! My husband and | are probably part of an
Indian generation of several firsts. We live in our own home (that is, we don't live with our children),
manage our finances, organise our travel and are generally happy to be managing our lives. Linking in
makes it easier; instant gratification, in fact. At 60 that's not a bad thing, it's a super convenience. Let
me explain. Our home is located outside the city, which means | get to enjoy salubrious surroundings
while the city is choking in foul air. But it also means getting to any place from here requires covering
distances, pot-holed roads and traffic. But | don’t have to get anywhere unless | want to. | just need my
computer, or my phone will do too. | order groceries, select the time | want it and voila! there’s the
delivery van at my gate. For my special brand of coffee | message the supplier, pay online and my
coffee arrives at my doorstep. Bill and credit card payments, recharges, money transfers, tax
payments, flight or train bookings, all without getting off my seat.

After what age can one get concessions in air and train fares?

~ Techofworld.In

1) Fifty years
2) Sixty-five years
3) Fifty-five years
4) Sixty years

Correct Answer: 4) Sixty years

Candidate Answer: 4) Sixty years

QID : 90 - Read the passage carefully and answer the questions that follow choosing the correct
alternatives.

Soon as an official member of the seniors’ club | can claim concessions in air and train fares, hotel
tariffs, out-of-turn access to counters at banks, and quicker access to god at crowded temples. But
the best part? Today’s 60 is not just a number, its digital! My husband and | are probably part of an
Indian generation of several firsts. We live in our own home (that is, we don't live with our children),
manage our finances, organise our travel and are generally happy to be managing our lives. Linking in
makes it easier; instant gratification, in fact. At 60 that's not a bad thing, it's a super convenience. Let
me explain. Our home is located outside the city, which means | get to enjoy salubrious surroundings
while the city is choking in foul air. But it also means getting to any place from here requires covering
distances, pot-holed roads and traffic. But | don’t have to get anywhere unless | want to. | just need my
computer, or my phone will do too. | order groceries, select the time | want it and voila! there's the
delivery van at my gate. For my special brand of coffee | message the supplier, pay online and my
coffee arrives at my doorstep. Bill and credit card payments, recharges, money transfers, tax
payments, flight or train bookings, all without getting off my seat.

What advantage the writer has because their house is outside the city?




Options:

1) Healthy surroundings

2) Instant gratification

3) Super convenience

4) Makes them generally happy

Correct Answer: 1) Healthy surroundings

Candidate Answer: 4) Makes them generally happy

Techofworld.In

QID : 91 - How the mathematics curriculum treats mathematics?
l. As a tool for practical utility
Il. Adiscipline that develops reasoning and analytical abilities

018eQ A0 650G RERIRER AIPAE F6Q?
|. ORI QUGIGNG Y@ AQBIF DA
Il 9@ §6rRI IRl JRYQ 9Q° F65T6IR AR ARIS @6Q

Options:

1) Only |

@R |

2) Only Il

6@Qw Il

3) Bothland I

1 \9Q° |l @,

4) Neither I nor Il
| @68 QI Il Q68

Correct Answer: 1) Only|
6aQm |

Candidate Answer: 3) Bothland Il
1 9Q° |l Q@

QID : 92- ‘To buy a motorcycle, a person takes a loan of Rs 5,000 from the bank at 5% interest rate.If
he wants to repay the loan after 2 years, then how much amount he has to pay?’ The method to be
adopted to teach this problemisthe _____ .

8 '6016Q ARERR DEQI AR F661 @1 QI OIQ 5% M IR 5,000 661 QUIQ B\ 6669 64 2 @ T6Q QIR
AR6EIRI @AQIP GIRIG, 606@ OIR 6R6E AACIE 6QRIdIR 6297" ARTE QAR AARIY B4 IR AAIT &siig
|




Options:

1) Analysis synthesis method
Q6686 666 ANF

2) Problem solving method
A AFRIRQ ARE

3) Inductive method

qJon a86

4) Deductive method

0oeca 0ed

Correct Answer: 1) Analysis synthesis method
Q66| V6 I°66| V6 ARG

Candidate Answer: 2) Problem solving method
A QFRIRQ ARE

Techofworld.In

QID : 93 - The extraction of information in the branch of mathematics is called

CI8IeQ ¢li6lleq Gela AYIsIeg ______ @@l gul
Options:

1) Numerical
aravdee

2) Statements
Q0

3) Equations
Q[N

4) Statistics
Jaeestvie

Correct Answer: 4) Statistics
Jareie

Candidate Answer: 4) Statistics
aalag L)

QID : 94 - When a teacher asked his student a question that ‘what is the area?’, “he answered ‘length x
breadth™. What can you say about the student’s understanding about the concept of the area?

6069 60161 S8R O QI9Y IRT g8 JoIEa 64 '6A6E @417’ “6d AR 60l '6GW4-0g" |
26 EIENG IRIQ QLI ARNER QERIR FVAER 6l 98 ARG?




Options:

1) The student has no information about the concept of the area

SRR AG6Q ILIR ARSI ARRER 6RI6E Gal QIR

2) The student used the area of the rectangle as a general idea of the area of any closed shape
Q106 64 6016d O 2IRINEA 6RP6R ARIQE! JIQEI DANER QAR ATRE MRIQ F6Q

3) The student is confused between the concept of area and perimeter

EQIEN 2g@ 99° 6AERRIIREIR FrIER ARG 2]

4) All options are correct

aeg Sag a0e

Correct Answer: 2) The student used the area of the rectangle as a general idea of the area of any
closed shape
2166 64 6R16d O ZIRINEA 6JPER ARIAE QS BARER NI ATRE MAAQ P6Q

Candidate Answer: 2) The student used the area of the rectangle as a general idea of the area of
any closed shape
Q196 64 661 QR 2IRIQ6Q 696 ARIQE! MIQEI BARER ZING6ATR ABRE MR P6Q

Techofworld.In

QID : 95 - Which of the following statement(s) is/are not correct in the context of teaching
‘measurement’ to primary class students?

JeiFie 6¢8a SfINa ‘AR HeHRAIR JIaPeR FFR 696 996 goe a0 g6e?

Options:

1) Only non-standard measures should be used

6RARMIR FIRR1R PRI MRLIR @QIHR! A6

2) Non-standard measures should not be used

Z-CI0e JQ6RUgEPR Q1QLIa @I Q96 Q68

3) Standard measures should be followed by non-standard measures
FR@ Je6RJgee 92 FIRR1R JR6RJYRR 29Uas @AIdel Q66

4) All options are correct

aag Geq ade

Correct Answer: 4) All options are correct
ang eq ade

Candidate Answer: 4) All options are correct
acg Yaq abe

QID : 96 - If a teacher wants to teach ‘addition’ to Class Il students, then which of the following is the
most appropriate strategy?

6nl6d S8e A6 Il 668Q ERINA ‘AR’ IRl IR, 6069 AR 626 & IQOIQ AAYY 60I6IR?




Options:

1) Addition should be introduced through word problems
612 QAR FRIFEA CEARE JROR FAUTA! QB

2) By writing all the formulae on the board

6QIP6Q AFY GO 6me]

3) Word problems should be done at the end of the chapter
SR QeI 21, 661F6Q QS RQUIQ Q66

4) No optionis correct

6aled daq a0 g6

Correct Answer: 1) Addition should be introduced through word problems
610 AR FRIFER 6AIRR JOoR FAITS Qe

Candidate Answer: 1) Addition should be introduced through word problems
619 AAAYIQ ARIFER A6ARR JROR AT QB

Techofworld.In

QID : 97 - Which of the following method is “learning by doing" method in mathematics?
Qe 606 A86T 680R "A8F QIR &isg"?
Options:

1) Analytic Method
Q66961 A8%

2) Laboratory Method
dQIRICIQ I8

3) Deductive Method
Porta erele

4) No option is correct
6l6ld e 90 ged

Correct Answer: 2) Laboratory Method
dFGIQ ARG

Candidate Answer: 1) Analytic Method
Q66|96 8%

QID : 98 - Which of the following method is adopted to solve logical problems in Geometry?

RYIFG6R 6d/Re ARy AARIRS AR ARG 606l I8E FR8 fQIT?




Options:

1) Inductive

dgeRIRe

2) Deductive

Qe

3) First analysis and then synthesis
QPl6r1 D6 TE1 \I9° §I' T6Q A6E| A6l

4) Analysis

Q6gaél

Correct Answer: 3) Firstanalysis and then synthesis
delesl @66,1@& NQ° Q' d6Q L°66| A6l

Candidate Answer: 3) First analysis and then synthesis
Qel6r! B66|RE \9e° G J6Q A°6E|REl

Techofworld.In

QID : 99 - According to National Curriculum Framework 2005 "Developing the capacities of children
for Mathematization is the main goal of mathematics education. The narrow objective of school
mathematics is to develop useful capabilities." Here, Mathematization refers to develop a child’s
abilities for which of the following purpose?

AISIRIR FIRPAIF 6QAGE 2005 29AlER "6I80 Uial g VG FRIS @8 61816 F6iaq (R AAY | gR SEI6Q

R1E QEREE PRI ARFII ARG @AQII" 90, 61566 FFR 6R4 QAEREIER APIRQ AFGI FRICY QEIN?
Options:

1) To develop the child’s resources to think mathematically, to pursue assumptions to their logical
conclusion and to handle abstractions

CIoRRIEe OQIRINR @, 6IR 6JR@ QAL RIER AgFIRGEPY QAR @A Ie° BFEeIgPe JAIRA! @RQIdIR
AgIRQ A°gIRg e GRIsl @6Q

2) To efficiently perform all number operations including knowing the square root and the cube root
6910IQ Q6 \Ie° AR Q6 A2 deR A°EIR FARRII AFPIR AGPER AMNIGR @6Q

3) To formulate theorems of Geometry and their proofs independently

RYIFOQ QAIRY 9e° FIR gﬂlé‘l@l@ ARINAPWI6R JEILLE @QUIN

4) Translating word problems into linear equations

606Q AAAYIGHS 6P AMPREER QAR F6Q

Correct Answer: 1) To develop the child’s resources to think mathematically, to pursue
assumptions to their logical conclusion and to handle abstractions

FIEERAIE? OgIRIeR @8, GI 6JRe QULRIER AgFiRgee 29I @R 1e° AFF0IgPe JR0IRAI @RQITIR
AgIRQ A gIRg g GRIsl @6Q

Candidate Answer: 1) To develop the child’s resources to think mathematically, to pursue
assumptions to their logical conclusion and to handle abstractions

FIEIERAIE? BIRIRR 28, 01 6dRe AUL°RIER 2gFIRG e 28 @& Ye° AFF0IE PR JRLIRAI @RQIdIR
ARINQ °YINGEQ FRI6 @6Q




QID : 100 - Mathematics used by illiterate shopkeeper _____.

AR/ 6QIRIN QIR G186 QIeEE @9 ____

Options:

1) is not useful in class

QI QLI Q6w

2) is very useful in solving all mathematical problems

aAg CIEIRR QA AFRIR ¢Q FARIQT

3) is ambiguous and the level of correctness in it is very low

Q. 9e° 46 a0a0Ia Yot ¢e @

4) should be discussed by the teachers in classrooms as an alternative strategy in solving related

problems
665iaR6R SRR gl AMRE AAAIGPP AFRINS Faq 6alsiR BAIRER 2i6RIER QTSI QS

Correct Answer: 4) should be discussed by the teachers in classrooms as an alternative strategy
in solving related problems
695emEa SRR QIR AMRE AAAIGEY AARINA Faq 6aliR BAIRER 2IERIER @K Q0

Candidate Answer: 4) should be discussed by the teachers in classrooms as an alternative

strategy in solving related problems
6550 R6a SRR QIR AMRE AAAIGR] AARINA Faq 6altR BARER 2IRIFR @K @G

Techofworld.In

QID:101-
What is the value of 36267

36— 2695 Q417

Options:

1)1

2)3

3)5/3

4)7/3

Correct Answer: 1) 1

Candidate Answer: 1) 1




QID:102-If ax b = (a - b)"2 then what is the value of 35 x 10?
Q@axb=(a-b)"?99 6069 35x 10 Q ¢l 62667?

Options:

1)3

2)5

3)7

4)9

Correct Answer: 2) 5

Candidate Answer: 2) 5

Techofworld.In

QID : 103 - What is the sum of natural numbers from 3 to 12? (including both number)
30IQ 12 adg gQPe IR 6AIBITR 68607 (AAL, °6!YI AR)

Options:

1) 78

2) 75

3) 100

4) 85

Correct Answer: 2) 75

Candidate Answer: 2) 75

QID : 104 - What will be the unit digit of 347 x 63 x 29 x 81?
347 x 63 x 29 x 81 Q Y@ GG 6066 2Q?

Options:

1)7

2)1

3)9

4)8

Correct Answer: 3) 9

Candidate Answer: 3) 9




QID : 105 - Which of the following is not a perfect cube?
261 60 6R66 A0 ARERR QEw?

Options:

1) 216

2) 125

3) 729
4) 243

Correct Answer: 4) 243

Candidate Answer: 4) 243

Techofworld.In

QID : 106 - If the area of a rhombus is 1000 cm? and one of the diagonal is 50 cm, then what is the
value (in cm) of the other diagonal of the rhombus?

20 66I5\ GIgRER 6AETR 1000 6072 1e° 66115\ @€] 50 601 94, 6669 AFER ZRIRT R4 goRA AR (6a
60) 6260?

Options:
1) 40
2) 44
3) 48
4) 52

Correct Answer: 1) 40

Candidate Answer: 3) 48

QID : 107 - If the radius and height of a cone are 36 cm and 27 cm respectively, then what is the slant
height (in cm) of the cone?

A0 QG 61gEQ QUIAR] 99 QR6! H2IPER 36 637 16 27 646 @\, 666 dIgTa Bde ARe! (6ARFCIER) 6066?




Options:

1) 50

2) 45

3) 55

4) 40

Correct Answer: 2) 45

Candidate Answer: 2) 45

Techofworld.In

QID : 108 - If the area of the base of a cone is 132 cm? and the height of the cone is 12 cm, then what
is the volume (in cm®) of the cone?

A0 FQ PNa 6RTR 132 6aF e 65 Q0! 12 6af 2\, 6606Q FQ 2GR (696°) 6266?
Options:

1) 488

2) 728

3) 528

4) 428

Correct Answer: 3) 528

Candidate Answer: 2) 728

QID : 109 - If the side of a square is 40 cm, then what is the area (in cm?) of the square?
Q0 99T adleaea g 40 697 94, 606 QEI6RLR 6RATR (69F2) 666?

Options:

1) 400

2) 800

3) 1200

4) 1600

Correct Answer: 4) 1600

Candidate Answer: 4) 1600




QID:110-

In the circle given below, AB and CD are equal
chords and the angle AOB is 120° If O is the
centre of the circle, then what is the value

(in degrees) of /COD? Tech OfWO r'I d _ I N

Qg 99@ 96@, AB 4@° CD 4¢Iq «Ie 99° é@lsl AOB
120°. 9@ O @Q @5 9696w LCODa I
(Gellen) 6a687

Options:

1) 120

2) 140

3) 160

4) 180

Correct Answer: 1) 120

Candidate Answer: 1) 120




QID:111-
In a parallelogram given below, what is the value
(in degrees) of /D?

¢l goa dsaleen, 2D @ qIe (G9165) 6aee?

A B

JBDEI

C (D
Techofworld.In

Options:

1) 40

2) 80

3) 120

4) 160

Correct Answer: 2) 80

Candidate Answer: 2) 80

QID: 112-
What is the value (in degrees) of ~ACB?

ZACBa ¢1& (849169) 6m6a7?

A

¥

3y oy




Options:

1) 20

2) 60

3) 100

4) 140

Correct Answer: 3) 100

Candidate Answer: 3) 100

Techofworld.In

QID : 113 - What is the complementary angle (in degrees) of 85°?
85° Q dAYR@ 6ql6l (G916Q) 6066?

Options:

1) 2

2)3

3)4

4)5

Correct Answer: 4) 5

Candidate Answer: 4) 5

QID : 114 - What are the number of diagonals in a hexagon?
WPRPTA @€ A°61Y 6266?

Options:

19

2)13

3) 17

4) 21

Correct Answer: 1) 9

Candidate Answer: 2) 13




QID : 115- Area of a rectangle is 864 cm?. Length of the rectangle is 36 cm. What is the perimeter (in
cm) of this rectangle?

IRG 2006899 689TR 864 6aF2| A10068G5R 664 36 64l I IR AINE6RLAR 64 (6RAGIR) 69667
Options:

1) 140

2) 60

3) 180

4) 120

Correct Answer: 4) 120

Candidate Answer: 4) 120

Techofworld.In

QID : 116 - If 3A4 =19 and 5A7 = 47, then what is the value of 4A5?
QG 3A4 = 199Q° 5A7 = 47 2N, 606Q 4A5 Q (IR 60667

Options:

1) 27

2) 29

3) 31

4) 37

Correct Answer: 2) 29

Candidate Answer: 2) 29

QID : 117 - In the following question, four number pairs are given. The number on left side of (=) is
related to the number of the right side of () with some Logic/Rule/Relation. Three are similar on
basis of same Logic/Rule/Relation. Select the odd one out from the given alternatives.

Qemele gel6a , OIa 661G 6QIRI D2l @1 (-) @ QIFl AFEQ AFAT B8 gf / T / Adie AM@E (-) Q PIRIE AIF6R
eiIQ AFER AMTC| 0T Y@ AR / B / ANEQQ QRA 29d] 4ea FRggee OIg F6rIEE aE faig |




Options:
1) 10 - 121
2)12-169

3) 14 - 169
4) 16 - 289

Correct Answer: 3) 14- 169

Candidate Answer: 3) 14— 169

Techofworld.In

QID : 118-
The line graph given below shows the amount of
milk (in litres) sold by the milkman on different
days of a week.

Goea Qo Qlpe gITt Y d91e6e §Ee 996
GuSIRIa QI0l &5 689 QuIn AGslél (FCIR6R) 6QdN|

-“l
o
I

60 54 o4

50 1 42 56
40 { « 48 0

30
20
10

PIa6en)

=]

(

Geler €196l

<

Amount of milk {in litres) /

D1 D2 D3 D4 D5 D6 D7
Days | @&

What is the average amount of milk (in litres) sold by milkman per day?
Joae Qu 9RIR QIR 2IIRIA 6066 QY (MEQ6R) 97 99?
Options:

1) 52.86
2) 56.85
3) 60.85
4) 64.85




Correct Answer: 1) 52.86

Candidate Answer: 1) 52.86

QID: 119-
The line graph given below shows the amount of
milk (in litres) sold by the milkman on different

=™ Techofworld.In

Ggea Qo @Ipe gITt 99 49I19en Q6! G0eq
GUIIRIR QoI §F 689 QuUa JOclS (FC106Q) Q&M

70
60 54

50 1 42 56
40 4 « 48 30

)
20
10
0

a8

PIe6R)

=]

(

Gele) €196

<L

Amount of milk {in litres) /

D1 D2 D3 D4 D5 D6 D7
Days | @&

The amount of milk sold on day D5 is approximately what percentage of average amount milk sold
by the milkman per day?

D5 GR6Q @& 62IR2)QI QU ARSI 29dleq dik, JF6R QU QIRI QIR 98 62@2JQl QU 6960 SIG1E A @?
Options:
1) 101.96
2) 105.94

3) 109.96
4) 113.96

Correct Answer: 2) 105.94

Candidate Answer: 3) 109.96




QID : 120-
The line graph given below shows the amount of
milk (in litres) sold by the milkman on different

=™ Techofworld.In

dgea Gel Qe giad 99 d9ieea FEa daee
GuLIRIa QIR &5 689 Qi darll (FCIR6R) 6QalN|

70
60 54

50 1 42 56
40 { « 48 0

30
20
10
0

a8

AeIaER)

=]

(

Gele €166l

<

Amount of milk {in litres) /

D1 D2 D3 D4 D5 D6 D7
Days | @

The amount of milk sold on day D6 is what percentage of amount of milk sold on day D3?
D6 0R6a @5 62IRgQl QIR ARFIE, D3 6a 77 621R2jAl QUR 6966 EIGIPEI?

Options:

1) 108

2) 112

3) 116

4) 120

Correct Answer: 3) 116

Candidate Answer: 3) 116




QID : 121 - The present syllabus of environmental studies is woven around some common themes.
Which of the following is notincluded in the list of those themes?

Q66610 2UARA SR AP 69T ARINE Z6FR FIAR 691RI @41 RLRES 2FgPa ORI AR @66
2A94Q 9647

—.. 1echofworld.In

1) Water
ae

2) Air

QgL

3) Food
Gl

4) Shelter
aleld

Correct Answer: 2) Air

Qg

Candidate Answer: 2) Air
Qg

QID : 122 - The syllabus of EVS at primary level is divided into how many themes?

Jdeifie g6aq EVSQ Geraiat 606G g¢l dag?
Options:

1) Seven
ade

2) Six
a4,

3) Eight
2o

4) Four
QI

Correct Answer: 2) Six
209

Candidate Answer: 4) Four
QR




QID : 123 - In an EVS classroom, when teacher is organising activity for students, then it is primarily
aimed at which of the following?

R EVS QIaQe 69, 606 §8@ S8Ia AR SARRId AleRal @R8] , 604 Y9I JRifinaise RARYE 6ael
Go6a A4 @Al JIR 6 ?

= [ @chofworld.In

1) Improving social skills of students

fRIeNa ANRe QA6 Qe KRS

2) Breaking monotony in the process of learning

ERI6 gl IR6A6D, QUGPI

3) Ensuring active participation of students in the process of learning
f8ie gfa fitigha AR5, 2rages Ao @ael

4) Enhancing student’s knowledge

SR Rie eQIRE!

Correct Answer: 3) Ensuring active participation of students in the process of learning
daIe 9@ fRIElQ 9@, ereges fge aal

Candidate Answer: 3) Ensuring active participation of students in the process of learning
dRIe 9P fRIENQ gL, ereges fEe aal

QID : 124 - In the context of EVS pedagogy, all of the following are desirable practices except

EVS &i8I6e 9aereq, ______ 801 ACRe e ardgee 2Iesia1d, 281Ra |
Options:

1) nurturing the identity of the child

ala/elafaalala alalaftalal

2) acknowledging the superiority of text book knowledge over actual observation
JQ0 Adeeassa AI0Y g4e RIRQ 6699 L1960 9oIR

3) promoting polarity of texts and contexts

dIOY 9Q° g4ereQ 64101 oI

4) building capacity for critical thinking and problem - solving

AFIERIPAIR® BQIRINAI IQ° AAAY AFRIFA AR H2IR JFIO!

Correct Answer: 2) acknowledging the superiority of text book knowledge over actual
observation
9o Adeeasea A0 gae RIRQ 6699 190 goiR

Candidate Answer: 1) nurturing the identity of the child
ala/elafaalala alalaftalal




QID : 125- All of the following are indicators of the general approach to be followed for EVS in
primary classes except from

I. Concrete to abstract

Il. Simple to complex

lll. Local to global

IV. Abstract to concrete e C O WO r . n
ReRe0geq 916 Jeifie gidea EVSQ din 2gdas @F aking I8oa 4oe

. @°@¢ OIg A6 @QQ! (2IeYR)

II. 926 OIQ @R

lll. g9, OIQ 6gIR
IV. B35 @QQ! (219qI9) @ @°§¢

Options:

1) Only IV
60w IV
2) land Il
1\9Q° I

3) lland Il
l~gee i

4) Only lI
e Il

Correct Answer: 1) Only IV
6@ IV

Candidate Answer: 4) Only I
6@Qw Il

QID : 126 - ‘World Yoga Day’ is celebratedon______
‘D¢ 64161 B’ ______ 60 Ao @91
Options:

1) 5th June
590

2) 1st May

1 6¢1

3) 21st June
21@@

4) 7th October
7 26Q10Q

Correct Answer: 3) 21stJune
21g9e




Candidate Answer: 3) 21stJune
21 @@

Techofworld.In

QID : 127 - What is the name given to the technique used in class management where the teacher
punishes the naughty students by removing them from the rest of the class?

QI AHIRREFER Q19RO 6RIIRTA AIFl @6 B2 62a8, 6a6EER Sae 9F SaIdg §Ia Q QRIR A] Gg H21g?
Options:

1) Time — out technique
a1, - 2IREG 6RlEIR

2) Stand - up technique
e} 210 YR

3) Extinction technique
gde ealeR

4) No option is correct
6l6ld e 90 ged

Correct Answer: 1) Time - out technique
afg, - 2IQG 6RlsIR

Candidate Answer: 2) Stand - up technique
e} 210 Y

QID : 128 - Ateacheris asking questions in EVS classroom. Which of the following is not a
characteristic of a good question?

@661 8@ EVS 6g8a g6 a0iRay | ARe 6006 1@ am g6 66561Q4 g6u?
Options:

1) Thought provoking
SleXalal/Ial[salala]

2) Ambiguous

Qe (215g6Q)

3) Concise and precise

@RY 9e° gRaY

4) Appropriate and clear language
QAYQ 1e° 4g Qual

Correct Answer: 2) Ambiguous
Qe (2155 6Q)

Candidate Answer: 1) Thought provoking
00 @QQI QElIERRA




QID : 129 - Learners in an EVS classroom estimate the number of mugs of water required to fill a
bucket. Which skills does this activity promote?

98 QNG 66808 SRIENAIER QiR JRsa dIR @QRIR 62agel A AGIQ Aaig Agee @6R| IR FIKTeRIIT
604 ORPIR JOIR @6Q?

-~ [ @chofworld.In

1) Communication
edlcliedlcl

2) Classification
666N

3) Prediction
QRAYQIEN

4) Interpretation
QYletyl

Correct Answer: 3) Prediction
QEYQl8N

Candidate Answer: 3) Prediction
QAYQI8N

QID : 130 - A narrative about Karnam Malleswari, a female weight lifter is included in the NCERT
textbooks of EVS, which of the following is the purpose of its inclusion?

I. To break gender stereotypes linked with this game

Il. To inspire young girls

lll. To make chapter interesting and funny

REF FlEME R AREQ IR GIR, FER QIR QERIRARIR ARNG A IRTRZIAE AI0IYYR dRLe @9 62IR8,
QOGO FIQ 60Q AEREY6R 2QQe? ?

. IR 661F1Q a2l Mk 4§ JAGCIRAYER QUeer

II. g9 AIRg 2986 @6Q

lll. 2I0EY QTN 9e° FRIQ *RR AR

Options:

1) land I
1g@° I

2) land Il
I~ge° I

3) lland Il
l1ge° Il

4) |, lland Il
I, 11Ng@e 1l




Correct Answer: 1) land Il
(N

Candidate Answer: 1) land Il
[g@° I

Techofworld.In

QID : 131 - Which national leader gave the slogan - “Swaraj is my birth right"?

@6l @114, @0l 64)l6lIR 06086RQ - "dRIR 2IFIR RPA RIS ?
Options:

1) Lala Lajpat Rai

miml MU QAN

2) Bal GangadharTilak
QR AEPRIQ ORQ

3) Bipin Chandra Pal
Qde 69 AR

4) Mahatma Gandhi
A116) Gl

Correct Answer: 2) Bal GangadharTilak
QR CIEFRIQ ORQ

Candidate Answer: 2) Bal GangadharTilak
QR PRI OR@

QID : 132 - Which Article of the Indian Constitution prohibits forced labour in India?

QARG TRIINQ K6 APERR QAIQG 6R1Q F6Q §¢1 TS FQR?
Options:

1) Article 22
219680 22
2) Article 23
29629 23
3) Article 24
]l 24

4) Article 25
2968 25

Correct Answer: 2) Article 23
2g6e 23

Candidate Answer: 3) Article 24
IRl 24




QID : 133 - Which national leader died on the day on which Non-Cooperation movement was
launched?

2026416 2I6RIRA 600A §Q 6RRLMI 6900 A6 FIFIM AOIA FJQ 6RRLRI?

== Tachofworld.In

1) Bipin Chandra Pal
Qde 69 AR

2) M.G. Ranade

M.G. QIRIce

3) Bal GangadharTilak
QR CIEFRIQ ORe

4) Lala LajpatRai

i MIede QAN

Correct Answer: 3) Bal GangadharTilak
AR CIEFRIQ ORQ

Candidate Answer: 4) Lala LajpatRai
Ml MIJS QN

QID : 134 - A person is suffering from Dengue. Which of the following home remedy can be given to
him to cure his illness?

@661 Q1 60FP6Q 2IPIR A8 1 91 gYe! JIR RO 696 IR IR J6RIR QUPIR AARIQ U6 ?
Options:

1) Ginger and Jaggery
QI Q° g

2) Clove oil

MOGP 60w

3) Garlic oil

Qgel 66m

4) Papaya extract
arpag) fdia

Correct Answer: 4) Papaya extract
aArpag Adia

Candidate Answer: 4) Papaya extract
arpag Adia




QID : 135 - Which of the following is practiced by the Khond Tribe of Odisha?

Qe FRIQ 6R6E BHEIR 66116 CIRG QIR QUL AR §9?

=== T achofworld.In

1) Briefcase farming

TeRd QI

2) Intensive subsistence farming
760 @160 AR

3) Shifting cultivation

drige Qld

4) No option is correct

6al6ld Qaq O ged

Correct Answer: 3) Shifting cultivation
dRIga oIN

Candidate Answer: 3) Shifting cultivation
dig Qld

QID : 136 - Which of the following language — region pair is correctly matched?

00 Q 626 QA - 28Rdna 980 A0RAIER 6FRHIRG?
Options:

1) Santhali — Jharkhand
diel - ¥losg

2) Konkani - Odisha
6RIFIR - BH4ll

3) Maithli — Maharashtra
6CeI - FIRIRIg,

4) Dongri — Kerala

Q- 6eaR

Correct Answer: 1) Santhali — Jharkhand
diel@ - e1eeig

Candidate Answer: 1) Santhali - Jharkhand
diel@ - eleeig

QID : 137 - In which year, the name of the Orisha state was changed to Odisha?

606 9F 68 BRGI ARIQ FIF PERIR BH6! FQU CRRYRI?




Options:

1) 2008
2) 2010
3) 2012
4) 2011

Correct Answer: 4) 2011

Candidate Answer: 4) 2011

Techofworld.In

QID : 138- Odishahasa______legislature.

BRI RE ______ AIRdal Q@8 |
Options:

1) Bicameral
QRPI6FIRUM

2) Tricameral
gIRRYIEARIR

3) Unicameral
RRIREY(@RRIEARIM)
4) Polycameral
dRRYIEARIR

Correct Answer: 3) Unicameral
RRIREY(@RRIEARIR)

Candidate Answer: 4) Polycameral
dRLYIEIRAIR

QID : 139 - Who appoints the Governor of state in India?

QAR ARIAIRG &9 FYG @612
Options:

1) Prime minister

QIRAGT

2) Parliament

ardQ

3) Chief Minister of States
QURIQ FeiIegT

4) President

QUYAG




Correct Answer: 4) President
g’

Candidate Answer: 4) President
UYAE

Techofworld.In

QID : 140 - Oldest scripture of Odishais ______.

3R6IQ YR AFGRE |
Options:

1) Utkal Madala
Qe Aol

2) Madala Paniji
CloR! QIE

3) Utkal Panji
Q@e dE

4) Odiya Paniji
GEa A

Correct Answer: 2) Madala Panji
R g

Candidate Answer: 2) Madala Panji
R g

QID : 141 - Hirakud Dam is built across which river?

QPR AP § 606 A1Q FRIER AFIE?
Options:

1) Ganga
Gl&rI

2) Godavari
66111

3) Mahanadi
1101

4) Krishna

1

Correct Answer: 3) Mahanadi
LI

Candidate Answer: 3) Mahanadi
AN




QID : 142 - Which of the following is a saturated fat?

A7Q Q616 IRT QIQEREER CHIG?
Options:

1) Olive oil
erdil 60

2) Sunflower oil
gdeea 60m

3) Butter

12151

4) Vegetable oil
aga oR

Correct Answer: 3) Butter
clisle

Candidate Answer: 3) Butter
clsle

Techofworld.In

QID : 143- Odishahasa______ climate.
GROIRR ______ 0RQlg Q@8 |
Options:

1) Subtropical
g9, A1YAER 1L
2) Tropical
IR

3) Equatorial
fasg,

4) Tundra

Q4!

Correct Answer: 2) Tropical
YR

Candidate Answer: 3) Equatorial
foang

QID : 144 - “Litti-Chokha” is a food material belongingto .

"BE-601E1" ______ @ 604 QAIRINER 2Ly |




Options:

1) Odisha

&G4l

2) Bihar

(R[]

3) West Bengal
Qgaesr

4) Assam
aldiel

Correct Answer: 2) Bihar
(S]]

Candidate Answer: 2) Bihar
Sl

Techofworld.In

QID : 145 - Drop of garlic oil can be given as a home remedy for which of the following
disease/problem?

QYRR 60 60IdI 6RQ 6QI6 / ATAYIQ AR JoRIa @aIe G2 IR A6Q?
Options:

1) Eye burning
2] @R

2) Sprain

671G 620

3) Toothache
Qg oL

4) Ear Ache
@l @4ell

Correct Answer: 4) Ear Ache
@le Q4ell

Candidate Answer: 4) Ear Ache
e Q4ell

QID : 146 - Sweet taste buds are present _ )

JRG 66@ @9 _____6Q QaEe|




Options:

1) on the back of the tongue
9 08 AIGER

2) on the either side of tongue
79Q ga 86

3) on the tip of the tongue
F2Q QUQ Q6 6Q

4) behind the salt taste buds
A 66'Y Q6 dLER

Correct Answer: 3) on the tip of the tongue
P2Q QJQ QIsl 6Q

Candidate Answer: 3) on the tip of the tongue
H9Q QdQ Qs 6Q

Techofworld.In

QID : 147 - In which year, Britishers occupied Odisha?
606 oF 60 @5EIFIER BF6I AElR fRejEM ?
Options:

1) 1800
2) 1803
3) 1810
4) 1798

Correct Answer: 2) 1803

Candidate Answer: 2) 1803

QID : 148 - Most of the Odishais covered by ______.

6P 2RYRAE 216l QIR 20|

Options:

1) black soil

@R a6

2) yellow soil

Rdel e

3) laterite soil
d6QAMIECARE) AIT
4) forest soil

QR G




Correct Answer: 2) yellow soil
202 A

Candidate Answer: 3) laterite soil
d6QAMIEEARE) AIT

Techofworld.In

QID : 149- DPT vaccineisfor______.
PAe ¢RI ______ 62Q8 ARl
Options:

1) Diptheria, Polio and Typhoid

©q 622, 60IRG Ie° CIRTEAR

2) Dengue, Polio and Typhoid

605, 6ARG 9 CIRATEAE

3) Diptheria, Pertusis and Tetanus
@aeeIRY, AIga 9e° Teerld

4) Diptheria, Pertusis and Tuberculosis
962104, AIgaa \9e° A

Correct Answer: 3) Diptheria, Pertusis and Tetanus
PaeaRLy, AIgaq e GeeRid

Candidate Answer: 1) Diptheria, Polio and Typhoid
©q 6202, 6AIRG \Ie° FIRTEALR

QID : 150 - Which test is used to detect HIV-AIDS?

REZINR-IREA 5296 @AQIR @6l AQINI Q1996 99?
Options:

1) Blood test
Qg eIl

2) Sputum test
@ Al

3) X - Ray

g - 6

4) MR
NE2lIQl IR

Correct Answer: 1) Blood test
Qg aa1al

Candidate Answer: 1) Blood test
Qg aIal









